VY =7/

Hi-Tech Parits

MOUNTING INSTRUCTIONS

REAR MUDGUARD ADAPTABLE TO

YAMAHA R3 15'-/ MT-03 16

Ref.: 8558

m DESCRIPTION QTy.

1

Iron

1

2

M6x15 DIN 1001 screw

2

3

M6x20 DIN 1001 screw

2

M6x10 DIN 1001 screw

Well nuts

Metal arrowhead

M6 nut

Metal arrowhead

Puig provides the best motorcycle frame and body.



https://www.motorcycleid.com/frame-body.html
https://www.motorcycleid.com/Puig/

